Math 1450, Honor Calculus Practice 2, Fall 2016.

September 8, 2016
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1. For cach of the following limits, determiue if the limit is computing f'(a) for some function
J(r) at the point where r = a. If it is, determine f(.r),a and f(a).

Y2 g D) _p X ]

L o X () e xleR) T 4

=
Mt T 5o o &

> 1 : 2,1
T3 Assawe TR 25 ol a0 bk floy=23

i, i ——= "
o Thus, MW Fragon. 3k witen o Wag 0s gt
dofinramn. o dexivative. ol o Fuwthtn ,

oo cos(a) + 1 Q S =CDS =) _{/’_\’?“ ¥( J)=0
1i. lim — A = = O
roEeT A x>T R=T0

| tasx)

—

We have. fy=cese CoETx—T)= Coskdles ) 15Ty | W ——"=o
Q=TT ,J\l‘QF_\ K > WS(Xx—T) = —os0x) - T

iv. lim (Lt h) —1

h—0 h AN &A\IN |-{— Zh‘\'V\L"‘ ~ ),‘ﬁ M
N L LU I g B = S - PP
P N e W U W

~F(°): ! v i . = -Péo):Z ,

—+ = X+
vo lim 2=l 2 = {0 20O<H) - A ( -~ _ l_
wem ,G)()v J].—.,—] (;\El‘ X‘?-{ Kt ( XS4 2(x~) 4(—
TXs T " [ 1
Fe=~% v = THrE-g

. osin(m +h N o
vi. lim > ( ) QJQM,\ St

— /
h—0 2 \ »\9_0 ’&L

We hate Too=s e |

oa=o

Sfwy=0




9. Prove that lim ! cos(2) = 0.
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Thinking: How to use the same theorem as ¢uestion 2 to prove lim
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